Modul Matematik STF Tahun 6 2008
WHOLE NUMBERS
1. 
Round off to the place value of the underlined digit.

                               482 347
2
Round off 307 993 to the nearest thousand

3
90 402 – 365 =

3 204 + 16 x 8 =
4 105 + 34 x 5 =

5 Express 
[image: image57.bmp]million to a whole number

6 1.8 million =

A
1 800 000

B
180 000

C
18 000

D 
1 800

8
Which of the following represents 
[image: image2.wmf]4

3

3

million?


A
3 000 750


B
3 007 500


C
3 075 000


D
3 750 000

7 3208 ÷ 8 =

8 Find the quotient 230 40 and 10

9 73 612 ÷ 23 =

A
2 300

B
2 300 remainder 12

C
2 337
D
2 337 remainder 1

10 10 million ÷ 10 =

A
1 000

B
10 000

C
100 000

D
1 000 000

12
State the place value of digit 5 in the number 71 528

13
Write the digit value of the underlined number in 43 800

14
There are twenty-four thousand and three. Write this number in numerals

A
243


B
2 043


C
24 300


D
24 003

15
248 x 12 =

16
3045 x 8 =

17
543 x 100 =


A
54 300


B 
543 000


C
504 300

D
500 430

18
Find the product of 805 x 50


A
4825


B
4105


C
40250


D
4910

19
A factory produced 55 000 shirts. These shirts are distributed equally to 20 


outlets. How many shirts received by each outlet?

20
Aini has 980 marbles. Siti has four time more than Aini’s marbles. How 

Many marbles that they have altogether?


A
3920


B
4900


C



D
4904

21
Three group of pupils took part in a camping. There were 22 girls and 28 


Boys in each group. How many pupils took part in the camping?

22
(650 + 350) ÷ 25 =

23
110 x ( 14 020 ÷ 20 ) =


A
7 810


B
77 110


C
78 010


D
770 110

24
Write four hundred twenty-five thousand in numerals
25
Write 675 219 in words

26
Which of the following represents 
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3

3

million?


A
3 000 750


B
3 007 500


B
3 075 000


C
3 750 000

27
Which of the following is in ascending order?

28
Jamal has 69 120 beads. Mihat has 5637 beads less than Ah Meng. How 


many beads does Mihat have?

29
A box contains 35 marbles. How many marbles are there in 35 776 boxes?

30
405 pencil are shared equally among 5 boxes. How many pencils are there 


In each box?

31
Amirah buys 20 flowers. She buys another 27 flowers to share equally to 


three friends. How many flowers does Amirah have as compared to a friend?
FRACTION, DECIMALS, PERCENTAGE

1
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1

1

 x 50 =
2

[image: image5.wmf]3

1

3

 x 900 =

3
Which of the following is incorrect?


A

[image: image6.wmf]2

1

1

 x 100 = 150


B

[image: image7.wmf]10

3

2

 x 100 = 230


C
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3

1

 x 100 = 130


D
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2

 x 100 = 250
4
Which of the following is the largest value?


A
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1

 x 30 =


B
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1

 x 27 = 33


C
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4

 x 12 = 56


D
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2

 x 35 = 80

5
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2

 out of 120 =


A
243


B
240


C
90


D
80

6
9.2 – 3.18 + 6.051 =
7
16.408 + 14.113 – 6.22 + 13.392 =

8
45.121 + 2.43 + 6.14 – 32.006 =

9
42.51 – 13.008 + 6.198 +

10
10.012 – 7.45 + 6.3 =

11
Which of the following is not equal  to 2?


A
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B
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C
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 ÷ 
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49



D
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13

[image: image23.wmf]9

8

 ÷ 
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 =

14
2
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1

 ÷ 8 =

15
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 ÷ 
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 =

16
8.205 + 4.6 – 8 =
17
14 – 0525 – 3.9 + 15.46 =

18
73.452 – 51.268 + 11 + 62.992 =

19
13.528 – 11 + 10.59 – 9.43 =

20
64.1 – 12.05 + 5.16 =


A
46.89


B
47.21


C
57.21


D
57.31

21
8.2 – 4.1 + 3.93 =

A
8.03


B
3.94


C
0.23


D
0.17

22
13.5 + 12.25 + 8 =


A
23.75


B
25.83


C
33.30


D
33.75

23
9 – 1.93 + 3.151 =


A
12.081


B
10.221


C
3.929


D
3.919

24
40.1 – 29.04 – 7 =

A
4.06


B
4.14

C
10.36


D
10.99

25
Express 
[image: image28.wmf]100

54

1

 as a fraction

26
Write 0.07 in percentage

27
Convert 0.4 to percentage

28
Convert 0.13 to a percentage

29
Convert 8% to a decimal


A
8.0


B
0.8


C
0.08


D
0.008

30
Write 25% as a decimal

31
Convert 1.25 to a percentage

32
What is the value  40% of 250


A
25


B
50


C
75


D
100

33
40% of 360 =

A
115


B
120


C
135


D
144

34
30% of 300 =

35
Diagram shows the price of a refrigerator before discount. Farhan buys the 


refrigerator at 30% discount. How much does he need to pay?


A
1050

B
2450


C
2050


D
2480

36
There are 50 mangoes in a box. 25 of the mangoes are rotten. Find the   percentage of the rotten mangoes

A
30%


B
50%


C
65%


D
70%

37
Table 1 shows the number of pupils in four group who travel to school by bus or by bicycle.

	Group 
	By bus
	By bicycle

	Maju
	25
	5

	Tekun 
	15
	10

	Rajin
	20
	8

	Wira 
	15
	2


What is the percentage of pupils traveling to school by bus of the total number of pupils?

A
25


B
60


C
75


D
80

38
Mira’s salary in Mac is RM750. Her salary increases 10% in April. Calculate Mira’s total salary in Mac and April

A
RM1375


B
RM1475


C
RM1575


D
RM1505

TIME

39
27 years 9 months – 3 years 11 months – 7 years 8 months =

A
15 years 2 months


B
16 years 2 months


C
23 years 10 months


D
25 years 11 months

40
4 years 8 months + 1 year 5 months = ………… years ……….. months

41
A motorcycle took 8 hours 15 minutes to travel from Town R to Town J.
A car took 3 hours 45 minutes faster than a motorcycle to travel the same distance. How long does the car take to travel from Town R to Town J?
A
5 hours 30 minutes

B
5 hours 10 minutes

C
4 hours 30 minutes

D
4 hours 03 minutes

42
En Azrul left his house at 8.30 am and arrived at Seremban at 1605 hours. Find the duration of his journey


A
6 hours 35 minutes


B
7 hours 35 minutes


C
8 hours 35 minutes


D
9 hours 35 minutes

43
Mohamad Ali was at his grandfathers house for 
[image: image29.wmf]2

1

2

 days. What is the duration of time, in hour and minutes that he was there?
LENGTH

44
Calculate 8.022 km ÷ 11. Give your answer in metre.

45
Calculate 
[image: image30.wmf]5

3

5

 of 20 m =

46
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3

 of 2.4km is


A
144 m


B
1440 m


C
1400 m


D
1444 m

47
Convert 
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5

4

 km to metre


A
450


B
460


C
4500


D
4600

48
Which of the following is nearest to 2 km?


A 

[image: image33.wmf]10

9

1

km


B

[image: image34.wmf]5

4

1

 km


C
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 km


D
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 km

49
Calculate 
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3

4

 of 64 cm
50
Convert 
[image: image38.wmf]4

3

 km to metres.

51
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 x 126 m =


A
80 cm


B
84 cm


C
80 m


D
84 m

52
Yati has 15 m of ribbons. She uses 
[image: image40.wmf]5

4

 of the ribbons to tie a parcel. Find the length, in cm, of the ribbon left.


A
215


B
240


C
300


D
310

53
The length of 3 ribbon are 1.5m, 0.78m and 2.55m respectively. Find the total length, in m, of the ribbon.

54
Which of the following is a correct conversion?


A
703 m = 0.703km


B
703 m = 7.03km


C
7030 m = 0.703 km


D
7030  m = 70.3 km

55
The workers need to pave 16 km of the road with tar. They managed to pave 
[image: image41.wmf]4

3

of the distance in a day. How many kilometres of the road have they paved?

MASS

56
Convert 
[image: image42.wmf]5

2

3

kg to gram

57
Calculate 
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1

4

 of 50 kg

58
What is the mass of 
[image: image44.wmf]2

1

4

 bags of rice if one bag weighs 25 kg?
59
Calculate 
[image: image45.wmf]10

5

2

 - 800 g. Give your answer in gram


A
1 500


B
1 600


C
1 700


D
1 800

60
Mother bought 2000g of plain flour. She used 
[image: image46.wmf]10

4

 of it to make a cake. How much flour was left?

61
The mass of watermelon is 1.7 kg. A papaya is 
[image: image47.wmf]2

1

 kg heavier than the watermelon. Find the total mass, in kg, of the fruit.


A
1.05 kg


B
1.55 kg


C
2.05 kg


D
2.55 kg

62
Halim has a sack of rice weghing 
[image: image48.wmf]5

2

10

 kg. He uses 
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3

2

 kg and keeps 
[image: image50.wmf]5
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4

 kg of the remaining into a plastic container. How many kilograms of rice are left in the sack?

A

[image: image51.wmf]20

1

3

 kg


B

[image: image52.wmf]20

1

4

 kg


C

[image: image53.wmf]20

13

7

 kg


D

[image: image54.wmf]20

12

4

 kg

VOLUME OF LIQUID 

63
Diagram    shows the volume of water in a beaker.


The volume of water in the container is 
[image: image55.wmf]5

3

 of the volume of a full container. What is the volume, in ℓ, of water needed to fill up the container?

A
0.2


B
0.5


C
200


D
500

64
A pail contains 2 ℓ 40 mℓ of water. Azmi pours 
[image: image56.wmf]4

1

1

 ℓ of water from a container into the pail. Calculate the volume of water, in mℓ, in the pail now?

65
Table   shows a few bottles of mango juice bought by Khalid.
	Number of bottles
	Volume in a bottle

	5
	320

	8
	280



Find the volumes, in ℓ, of mango juice did Khalid buy


A
4.02


B
3.84


C
0.32


D
0.28

SHAPE AND SPACE

66
Diagram    shows a rectangle


Calculate the perimeter of the rectangle


A
16 cm


B
22 cm


C
28 cm


D
44 cm

67
The perimeter of a field is 240 m. Given, the length is 80 m. Find, in m, the width of the field.


A
30


B
40


C
80


D
160

68
Diagram   shows a rectangle EFGK and square GHIJ.

[image: image1.wmf]5
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Find the area, in cm, of the whole diagram.


A
100


B
112


C
200


D
212

69
Diagram    shows two squares, PQRS and PTUV.




Calculate the area, in cm, of the shaded part.

70
Diagram    consists of a cube P and a cuboids Q



Find the surface area, in cm, of the whole diagram.
A
300 cm²

B
350 cm²

C
375 cm²

D
400 cm²

71
Diagram   consists of two cuboids of difference sizes.




Find the volume, in cm³, of the whole diagram.

A
311 cm³
B
320 cm³

C
324 cm³

D
360 cm³

72

_1286347293.unknown

_1286369125.unknown

_1286369614.unknown

_1286384862.unknown

_1286385493.unknown

_1286385719.unknown

_1286385796.unknown

_1286386072.unknown

_1286386587.unknown

_1286385758.unknown

_1286385575.unknown

_1286385683.unknown

_1286385547.unknown

_1286385208.unknown

_1286385313.unknown

_1286385005.unknown

_1286384712.unknown

_1286384754.unknown

_1286384519.unknown

_1286369381.unknown

_1286369459.unknown

_1286369485.unknown

_1286369425.unknown

_1286369335.unknown

_1286369358.unknown

_1286369296.unknown

_1286350062.unknown

_1286352339.unknown

_1286368958.unknown

_1286369032.unknown

_1286368175.unknown

_1286350404.unknown

_1286350440.unknown

_1286350234.unknown

_1286349936.unknown

_1286349995.unknown

_1286350034.unknown

_1286349964.unknown

_1286347384.unknown

_1286347433.unknown

_1286347353.unknown

_1286345251.unknown

_1286345839.unknown

_1286346033.unknown

_1286347256.unknown

_1286345885.unknown

_1286345777.unknown

_1286345810.unknown

_1286345592.unknown

_1286345047.unknown

_1286345181.unknown

_1286345214.unknown

_1286345113.unknown

_1286303008.unknown

_1286342298.unknown

_1286302794.unknown

